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If present population of a town
is 19200 . if it is decreasing at

S e
_— m the rate of(12-%/per annum .
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If present population of a town
is 50000 . if it_is decreasing at

the rate of par annum .

/ then find populs tlon of town two
2 Q\M =] 000 <years ago% ? IR B e A
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If present population of a town is
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/ If Present value of a machine is
6250 find __the value of the
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The population of a town increased by 12
g 1% in 15 year , 22 3% in 2" year while

V oj’ffeﬁ/ @ decreased by 142 % in third year What is
gf A Yo the population of town at |f
| years populatlon of town was 14 lakhs?
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&6 SX [O‘”?h ‘/(—a‘){s.s Lakhs (b) 20.5 Lakhs

(c) 21.5 Lakhs (d) 22 Lakhs
(e) None of these
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- 2 The populatlon of a town decreased by
—~\ 8—% in 1% year, 28-% increased in
2" year while decreased by 22—% in
3 7W @ / third year/ What is the populatlon of
= ~ town at| present| if three years @
@Y‘f Cems )‘ population of town was 22 |
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(a) 17 Lakhs (b) 18 Lakhs
(c) 18.5 Lakhs  (d) 17.25 Lakhs
(e) None of these



